Transfers Report

This report contains the transfers results.

Contest Name	Aird and Loch Ness
Valid Votes	5,198
Positions to be Filled	4
Quota	1,040

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Chris BALLANCE	Scottish Greens - Think Global Act Local	528
Helen CRAWFORD	Scottish Conservative and Unionist	1,099
Aarron DUNCAN-MACLEOD	Independent	430
David FRASER	Independent	1,182
Holly KINGHAM	Scottish Liberal Democrats	342
Emma KNOX	Scottish National Party (SNP)	1,364
Michael PERERA	Scottish Labour Party	253
	Total	5,198

Candidate Helen CRAWFORD Elected with 1,099 votes, being in excess of the quota of 1,040 Candidate David FRASER Elected with 1,182 votes, being in excess of the quota of 1,040 Candidate Emma KNOX Elected with 1,364 votes, being in excess of the quota of 1,040

Transfers Report

This report contains the transfers results.

324.00000

Stage 2 - Surplus of Emma KNOX

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Chris BALLANCE	750	0.23753	178.14750
Transfer to Aarron DUNCAN-MACLEOD	176	0.23753	41.80528
Transfer to Holly KINGHAM	115	0.23753	27.31595
Transfer to Michael PERERA	99	0.23753	23.51547
No further preference	224	0.23753	53.20672
Not transferred due to rounding			0.00908
	Total		324.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of David FRASER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Chris BALLANCE	181	0.12013	21.74353
Transfer to Aarron DUNCAN-MACLEOD	527	0.12013	63.30851
Transfer to Holly KINGHAM	135	0.12013	16.21755
Transfer to Michael PERERA	86	0.12013	10.33118
No further preference	253	0.12013	30.39289
Not transferred due to rounding			0.00634
	Total		142.00000

142.00000

Transfers Report

This report contains the transfers results.

59.00000

Stage 4 - Surplus of Helen CRAWFORD

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Chris BALLANCE	39	0.05368	2.09352
Transfer to Aarron DUNCAN-MACLEOD	391	0.05368	20.98888
Transfer to Holly KINGHAM	237	0.05368	12.72216
Transfer to Michael PERERA	94	0.05368	5.04592
No further preference	338	0.05368	18.14384
Not transferred due to rounding			0.00568
	Total		59.00000

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Michael PERERA

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Chris BALLANCE	43	1.00000	43.00000
Transfer to Aarron DUNCAN-MACLEOD	36	1.00000	36.00000
Transfer to Holly KINGHAM	113	1.00000	113.00000
Transfer to Chris BALLANCE	35	0.23753	8.31355
Transfer to Aarron DUNCAN-MACLEOD	9	0.23753	2.13777
Transfer to Holly KINGHAM	29	0.23753	6.88837
Transfer to Chris BALLANCE	13	0.12013	1.56169
Transfer to Aarron DUNCAN-MACLEOD	10	0.12013	1.20130
Transfer to Holly KINGHAM	22	0.12013	2.64286
Transfer to Chris BALLANCE	2	0.05368	0.10736
Transfer to Aarron DUNCAN-MACLEOD	14	0.05368	0.75152
Transfer to Holly KINGHAM	43	0.05368	2.30824
No further preference	61	1.00000	61.00000
No further preference	26	0.23753	6.17578
No further preference	41	0.12013	4.92533
No further preference	35	0.05368	1.87880
Not transferred due to rounding			0.00000
	Total		291.89257

291.89257

Transfers Report

This report contains the transfers results.

523.09513

Stage 6 - Exclusion of Holly KINGHAM

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Chris BALLANCE	124	1.00000	124.00000
Transfer to Aarron DUNCAN-MACLEOD	159	1.00000	159.00000
Transfer to Chris BALLANCE	61	0.23753	14.48933
Transfer to Aarron DUNCAN-MACLEOD	25	0.23753	5.93825
Transfer to Chris BALLANCE	12	0.12013	1.44156
Transfer to Aarron DUNCAN-MACLEOD	63	0.12013	7.56819
Transfer to Chris BALLANCE	29	0.05368	1.55672
Transfer to Aarron DUNCAN-MACLEOD	101	0.05368	5.42168
No further preference	172	1.00000	172.00000
No further preference	58	0.23753	13.77674
No further preference	82	0.12013	9.85066
No further preference	150	0.05368	8.05200
Not transferred due to rounding			0.00000
	Total		523.09513

Transfers Report

This report contains the transfers results.

774.12138

Stage 7 - Exclusion of Aarron DUNCAN-MACLEOD

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Chris BALLANCE	189	1.00000	189.00000
Transfer to Chris BALLANCE	110	0.23753	26.12830
Transfer to Chris BALLANCE	164	0.12013	19.70132
Transfer to Chris BALLANCE	107	0.05368	5.74376
No further preference	436	1.00000	436.00000
No further preference	100	0.23753	23.75300
No further preference	436	0.12013	52.37668
No further preference	399	0.05368	21.41832
Not transferred due to rounding			0.00000
	Total		774.12138